SF6E2H48(R)
- N 4 K 2 Tk 4 v 4L HDCP = ST KLUk
& B mxk H% 39 35 74 10.0 64.0 500
RS A EH 35 35 70 5.0 65.0 400
K]iva dil BE 43 40 83 15.0 68.0 300
AL FE Jaos, 45 44 89 21.0 68.0 200
541 0w & 41 37 78 9.0 69.0 100
641 R RE& 39 39 78 9.0 69.0
741 NHE #BX 43 40 83 14.0 69.0 90
8L KA Bt 46 41 87 18.0 69.0
9fiL #A Bk 42 40 82 12.0 70.0
104L ER FE 36 42 78 8.0 70.0 75
11431 iz R e 45 38 83 12.0 71.0
12431 AH 1B 41 41 82 11.0 71.0
134 BRR EF 43 45 88 17.0 71.0
1441 M EF 49 49 98 27.0 71.0
154 BA B— 38 41 79 7.0 72.0
164 AA XRE 42 42 84 12.0 72.0
174 HH HFA 42 42 84 12.0 72.0
184 ik BN 46 42 88 16.0 72.0
194 il N = | 41 44 85 13.0 72.0
201z Rin 5 46 47 93 21.0 72.0 75
2141 FR e 39 40 79 6.0 73.0
2241 izl N 43 40 83 10.0 73.0
2341 A EFE 42 44 86 13.0 73.0
2441 ZfE £E&E 49 49 98 25.0 73.0
2541 A EH 45 38 83 9.0 74.0
2641 BA Fha 48 41 89 15.0 74.0
2741 ik &9 43 41 84 10.0 74.0
2841 Fall A8 42 42 84 10.0 74.0
294 o #®F 46 44 90 16.0 74.0
301 b= 2= 7 45 44 89 15.0 74.0 75
314 HiE &0t 39 38 77 2.0 75.0
324z RE 42 39 81 6.0 75.0
331 miE B 44 40 84 9.0 75.0
344 REE IEH 45 42 87 12.0 75.0
3541 KE 2 42 43 85 10.0 75.0
361 BX E— 41 46 87 12.0 75.0
3741 A% A 47 46 93 18.0 75.0
381 REE oK 49 49 98 23.0 75.0
394 RE HA 48 40 88 12.0 76.0
401z hE & 41 43 84 8.0 76.0 75
4141 £8 EN 42 43 85 9.0 76.0
4241 RE —X 46 43 89 13.0 76.0
4341 MR BEX 46 45 91 15.0 76.0
444 2l fE 46 45 91 15.0 76.0
4541 FT ft 55 47 102 26.0 76.0
461 F)l EE 49 49 98 22.0 76.0




SF6E2H48(R)

- N 4 K 2 Tk 4 v 4L HDCP = ST KLUk
4741 AH {ER 41 42 83 6.0 77.0

4811 FE &R 40 43 83 6.0 77.0

4941 &R [E1H 43 44 87 10.0 77.0

5011 LA A 42 44 86 9.0 77.0 75
511z HE F— 46 47 93 16.0 77.0

524 AH EE 46 39 85 7.0 78.0

53fiL = OB 44 43 87 9.0 78.0

5441 A B 45 45 90 12.0 78.0

554 EL RE 47 47 94 16.0 78.0

561 BA Eth 43 47 90 12.0 78.0

574 BR EBH 46 47 93 15.0 78.0

581 AR %t 50 49 99 21.0 78.0

594 *®E W= 48 50 98 20.0 78.0

60%:L #E Z=mER 47 60 107 29.0 78.0 75
614 FIER J93E 48 45 93 14.0 79.0

6241 ZR ER 49 46 95 16.0 79.0

631:L Ef B 45 48 93 14.0 79.0

6441 % IEF 48 49 97 18.0 79.0

65%L HA =i 49 50 99 20.0 79.0

664 TR HEH 42 51 93 14.0 79.0

674 R £z 53 53 106 27.0 79.0

684:L EH —R 48 45 93 13.0 80.0

69%L Bk RE 50 48 98 18.0 80.0

70%L Fl fMA 56 47 103 22.0 81.0 75
7141 AT =RF 50 48 98 17.0 81.0

7241 BA #hif 49 51 100 19.0 81.0

734 HA 46 53 99 18.0 81.0

7441 mR Ba 49 44 93 11.0 82.0

754 mE &iE 48 52 100 18.0 82.0

7641 F OEX 48 45 93 10.0 83.0

7741 Kix & 47 51 98 15.0 83.0

7841 Bk B 49 45 94 10.0 84.0

794 HFE B 51 44 95 10.0 85.0

801 XfE BEE 60 55 115 30.0 85.0 75
814z #FX —Ik 54 44 98 10.0 88.0

821 RA Ht 49 49 98 10.0 88.0

83(i =5 At 53 58 111 22.0 89.0

8441 UNTIEE /N 58 62 120 31.0 89.0

85fL HH X 55 49 104 14.0 90.0

BBE B R 53 54 107 17.0 90.0 120
871 ml Eh 62 55 117 23.0 94.0
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